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Leul Asp2 Gly3 Gly4 Trp5 Ser7 Trp8 Ser9 Asp10Arg24 Ala25 Cys26 Thr27 Val28 Asn33 Gly34 GIn36 Pro37 Cys38Phe39 Gly40 Asp41Asp42
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Leul Asp2 GIy3 Gly4 Trp5 Ser7 Trp8 Ser9 Asp10Arg24 Ala25 Cys26 Thr27 Val28 Asn33 Gly34 GIn36 Pro37 Cys38Phe39 Gly40 Asp41Asp42

707 Trp8 (+) C-man o'c, O‘C, (1) B‘, (2 B°C,(3)
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Leul Asp2 Gly3 Trp5 Ser6 Ser7 Trp8 Asp10 Trp11 Arg22 Arg24 Ala25 Phe39 Gly40 Asp41 Aspd2 Leud3 Metdd Thrd5 GInd6 GInd7

Trp8 (-) C-man a(1) o (2) = (3)
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Leu1 Asp2 Gly3 Trp5 Ser6 Ser7 Trp8 Asp10 Trp11 Arg22 Arg24 Ala25 Phe39 Gly40 Asp41 Asp42 Leud3 Metd4 Thrd5 GInd6 GInd7
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